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%&'()*%&'()*++,-./	��,-./	�� (1)(1)

����
L5M2ND –

“­Ë56789:;<=>?����J+,

-./0;+,2-./0ÌÍÎÏÐÂ�Ñ
Ò¦*ÓÑ��ÔÕ——
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(b) Ù��Ú�;2ÛxÜÉÊÝ¤Þ��ß
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��1 1 –– ��������������	
�	
�
1. 
��1
�����
���
�������

⇒0.2mg/kg (�49.62�)

2. � !�"#$��%/&'()*+),-./���012���

�234�

⇒⇒⇒⇒./���
�234� = 89%
⇒12���
�234� = 10%

3. 56���
12���
�789������:

= ((100 – 10) / (100 – 89)) ×××× 0.2
= 8.2 ×××× 0.2
= 1.6mg/kg

��������	
��
����������
� 1.6mg/kg
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��2 2 –– �
�
����1010��,10X,10X����������������

1. ���1�����	�
���
�����
⇒⇒⇒⇒ 0.3mg/kg (�277.14�)

2. ������������� !"#

⇒⇒⇒⇒ 10X ($%&)

3. '(��	� !(10X)
���)*+
�����
⇒⇒⇒⇒ 0.3 mg/kg ×××× 10 = 3mg/kg

������ (10X) ��	
��
���������
�� 3mg/kg
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(a)���������	
��
�1 ��������

������������
�1 ���������

 !"#$

(b)(a) %&'���()*�+�,��-�./��0

12./3��0145�6�+�,�������

����78-!"�

9�:(2);�<0=��./��012./3��0

1�>?�(a) %&'���

�(2)�������� !"#$%�&'����	
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��1 1 –– 8989::	;<=>	;<=>

üýùþ “�ü”à�íp�üý��+,-./
0¥� “�ü”�+,-./0���Lüýà

"#1����	£“�ü8
ü”�+,-./
0�� 0.05mg/kg (M86.15�)����Lü
ýà
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��2 2 –– ��?@A:��?@A:	;<=>	;<=>

“��
��”ùþ
�à�íp���
��
��+,-./0¥�
��+,-./0�
��L��
��à

"#1����	£
��+,-./0��
0.01mg/kg (M86.54�)����L��
�
�à
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�������� (1) (1) 

�����M6N –

“…·Ù*F��Þ��Ù����-.���
�+,-./0;+,2-./0��Ù*F
���²���������-.����Í
Ñ�+,-./0;+,2-./0��l
x��������	��
�����à”�

Þ��
������	��
���� (pro-
rata MRL or EMRL)¡&�������-.
����+,-./0;+,2-./0�&
Ç��Ñ�Ù��Ñ��LÙ��£p�*F
���Ý����Ñà
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�������� (2) (2) 

��O�����—
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��1 1 –– �������������
����
�
1.��������	–


��
200����������20������������
���10���180���������������90��

2.  !"1#$�%&'( )*�+#�,-./0�,�

%&'( ��#�,-./0�= 0.02mg/kg (17.42)

%&'( ��#�,-./0�= 0.005mg/kg (17.162)

3.�3%&'( ����#456�,-./0�

= �%&'( ��#�,-./0��×××× [�� �����789
������] + �%&'( ��#�,-./0��×××× [�� 
�����789������]

= 0.02mg/kg x 10% + 0.005mg/kg ×××× 90%

= 0.007mg/kg

��������	
��
��������� 0.007mg/kg
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��2 2 –– ���� ! !����"#$"#$

1. ��������	–


��
100����������30���������������30
�� 50�!"������������50��#20�$%&'����
����������20��

2. ()*1+,�-./(01�2+�34567�8�
-./(��+�34567���9:;"�<=>?@�� = 0.5mg/kg
(A265.29B)

-./(CDEF+�34567�= 5mg/kg (A265.27B) 

-./($%&�$%&'�+�34567� = 0.05mg/kg (A265.30B)

3. �G-./(����+HIJ�34567�
=�-./(��+�34567�� ×××× [��(�����KLM������] 

+ �-./(CDEF+�34567�� ×××× [CDEF(�����KLM
������] +�-./($%&�$%&'�+�34567��×××× [$%
&�$%&'�(�����KLM������]

= 0.5mg/kg ×××× 30% + 5mg/kg ×××× 50% + 0.05mg/kg ×××× 20%
= 2.7mg/kg

��������	
34567���
��2.7mg/kg
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����B�CB�C��22		

��� !"+��$� !"��� !"+��$� !" (1)(1)
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����B�CB�C��22		

��� !"+��$� !"��� !"+��$� !" (2)(2)
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����B�CB�C��22	��� !"	��� !"

+��$� !"+��$� !" (3)(3)
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����B�CB�C��22		

��� !"+��$� !"��� !"+��$� !" (4)(4)
&'���

��������	
��
���������

���������:

a) :;<=��>;2��“�?�”@AB�,-./0�C
“��”�,-./0���DEFGHI<���<2�<
=�#�JKLMN,-./0�OP;“0.04mg/kg�J
KLMN ���,-./0��Q�2”@�0.02mg/kg

b) :;<=��P;R-;2��“�?�”@AB�,-./
0�C“��”�,-./0��25S@T�<=�3EF
GH�U�>2�<=�#�JKLMN,-./0�OP
;“25*0.04mg/kg �JKLMN ���,-./0
��@�<=�3”@��U#�VWX<=Y��1.0mg
JKLMN./
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http://www.cfs.gov.hk/tc_chi/whatsnew/
whatsnew_fstr/whatsnew_fstr_21_Pesti
cide.html

¬­®�2013¯1°31±i²%�¤¥
#³´">
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